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Section A (..:»:o.x;z’ma’%k?)

: 2 \X . '
For each quest:on fron"PT to 30, four optlons are glven One of them is the

corféct answer. Make your chmce (1,2, 3ar4). Shade your answer on the Optlcal
Answer Sheét.

t'. E Mar’_idy'_compared the plants, D-and E, as shown below.

She made the folloving observatiors:

A PlantD has no lgaves.-
B . P!ant D has no stem
-C Ptant E has flowers.
D Plant E has weak stem

Whlch of her observatlons are correct’? :

3, A.andﬁ?f
- &) AandD - - -
{3). BandC . o _ -
"¢ CandD
2 ‘, Studythe ammats below. '

| “rabbi\t'-

spmy a'nté’ét‘éi' 3

Whlch of the followmg descnbes the common charactenstlcs of atl the
'above anlmats‘? '




3. Sally conducted an experlment by putting: anrmal X, some dried leaves and
a prece of meat into a box. She recorded the mass of the leaves and the
. meat for a perlod of tlme as shown in the table below

The mass of

dried leaves

me_at '

“Day 1

50 g

50¢g

.35g

509 .

Day 5.

209

509

. Day 8

59

50g

Animal x is most fikely to be a.

e #y ladybird
B v millipede. - . ‘ ,
- - 3y grasshopper R ' _ , ..

)] praylng mantls
4, Study thie oorrcept map below carefully. ‘ : -
feeds on “two pairs of fesdson -
;_,__:___jal only wings plantonty
S L - has ' - ‘has. o )
: | Aqimal S N ‘has = a_pai_'rof- 4— has. . | AnlmaiT
L L feelers - | T
Wh:ch of the foilowmg anrmals represents ammal S and T correctly’?
_ Animal S AmmalT
Grasshopper il

Dragonﬂy




Xawer watered a potted plant with water m|xed with blue ink for 2 days On

the second day, he observed that some patrfs of the flowers and leaves had
turned blue

(1)
@)
(3

4)

OO >

: Whrch of the followrng statements are the correct reasons for XaV(ers
'observatlon? ' : :

Water is transported to the leaves.
Water i is trarisported to the flowers :
~ Waferis ‘absorbed by the roots halrs _
, Water is transported through the finy tubes in thé stem

Aand B 'only
C.and D only
A B and D only
A B,Cand D -

Jamce wanted to find out the volume of somé marbles and a coin: She .
- . carried out an expenment usmg the set up shown below Flrst she fi Iled up’.
a beaker with 50-cfin* of watet. She thier added two. marbles and récorded
the readlng of the riew water level. Lastly, she removed .one marble and
added a coin. and recorded the water level as shown: below :




7. Fann classified four 6bje(;ts info two groups aé shdwn below.

GroupS | GroupT

" newspaper

styrofoair cup _ Coti)kig'pqt

| The .dbjécts:-_ére grouped according fo the property of

‘(1) hardngss’ o

(2).  ability to sink or float - : :
R (3)  ahbility to absorb water - ' g -
Lol. .0 (8), dedrée of transparency —

. . The disigram below shows a human digestive system.



9.

1o,

Fehma carried out an experiment on the growing. of seeds usmg two
containers, M and N-as shown in the diagram below.

container
cover C?mpleffely filled
with botled water

seeds

1 / wet cotton
wool

containgr M '. ' . _ container N

-

After 2 days the seeds in contamer M grow into seedlmgs but not the seeds

'_ln containgr N. |

Based on the expenment above, which one of the followmg conditions
allows the séeds in coritainer M to grow into seedlings but not the seeds in
contalner N’?

(1) amount of air
(2)  amount of light ;
(3)  amousdt of water

(4) . conducive temperature

'Th"e-di'ag'ram-'below shows a human skull.

Whlch of the following structure(s) haslhave the same functlon as the one
shown above?




1. Joann spotted a cocoon on a leaf in her garden Whrch one of the
followrng dlagrams shows the correct life cycle ofthe insect?

Adult | Pupa | - Adult | Larva -

e
¥

o (3)'-'.' / Adult @ / Aduit” \ =

“12.  The diagram below. shows & water hyacinth plant.

" Whlch statement(s) below descrrbe(s) how useful are the roots of- the water
_ hyacrnth to the plant? S : : . :

-The roots store food for the p[ants

s 60ts ranépo_ _ hio B
. _'.The I Oots'absorb water and mrneral salts frorn the water B

,

om .




13. Fandah did a.study on two animals, X and Y. She drew a- checkhst
and placeéd a tick ( v ) in. the box when she made the observation.
At the end of her study, the comp!eted checklist is as follows:

Observation Anital X Animal Y |
| -It'has? six lcgs'.' - o v v
Eggs are laid in water. Y
"I:”_hcre.'ar'e- t'h-r'.ec Stsges in the !ffé cycle | | v

Which oné of the following. represents animal X and Y correctly?

Animal X ~ -Animal Y

(1) frog - buttetfly

(2) butterfly . cockraach
1.3 | mosglito frog

4 mosquito . _ cockroach

14.  The diag‘réfn below shows the life cycle pf a-mosquito.

D

At Wthh stage of its’ life cycle lS the mosqulto most harmful to Man and '

e Why’?
N Stage -:i‘-- "I':"‘:' Reason R
(1) AT it can sw1m and spread mosqwtc-borne diseases
2] B |ltean ﬂy and spread mosqmto—bome diseases
1) ] C - |ltcannofbe séen easﬂy and.it is-poisonous.
D

L@l

L AIt has SplkeS that cén cause swelhng When stung




15.

- 16.

Whlch of the followmg orgamsm(s) haslhave a SIm{lar life cycie of a Lady S -
Finger plant?

(1)
{2)
(3).

A _ cucumberplant

' _-B - laddet fern.
C brown mushroom

D balsam plant

“Aonly

D only
A and 8) only

,BandConIy - -

The pictures below show a cockroach nymph and_ abutterly.

D Both have a pair of fée!ers.-

3y

cockroach ‘_ butterfly
. nyri1ph-~

';._:__:-‘..Based on, your observatlon Wthh of the followmg statements isfare true
K ~‘about the cockroach nymph and the butterﬂy'?

A"' : loth have wmgs.

B Both have 6 Tegs.

C  ‘Bothfeed on plants

A only _
B and, D on{y

- Cand p only
<A Band Donly




17.

C Which"iéﬁe':(')t"the 'mé@_rie,té is the strongest? -

18.

Greg.e'ry, conducted an experiment to test the str‘en‘gtﬁ of different
magnets. He recorded his observations in 'the-table below-

Magnet Dlstance between the Number of
R magnetand nails (cm) nalls attracted "
. N5 6

W 8 - 5

X 10 6

() MagrietU.

(2) Magnet V.

3) Magnet W

- (4) Magnet x

S'ih;loh' used the magne't'below to attract some paper clips.

S

.thch one of the fOlIOWIng shows the most Ilkely number of paper claps o

S 'attracted to parts Q, 'R S and T_of the magnet‘? |

' :_' '-N mbe:.of p per’cll__s attracted at part




19. - A‘group of boys 'Were 'des"cribin'g the‘ property of magfiets.

Bemard All metals are magnetic materials. >
.Colin Al magnets are made of metal. <.
David Magnet ¢an attract and repel all metals
Elin’ VA magnets have two poles. g '

Whose staterne'nt(s)_ isfare correct?

. (1) . Colin 6nly
-{2) Elin only I
(3)° David and Elvin only o ' T
- {4) Bernatd and Colin only

. U0, Diagram 1 shows a ‘magnet held near rod A which-is tied toa string. A fit
o - candle isthen placed near to one end of rod A as shown in dlagram 2. After
. some tlme rod A started to move towards. the magnet

string - string
B od A A od A
“magtiet -
| magnet
2 _lit candle
| diagjréﬁi'r, T d'aég'am'z -

C Whtch of the followmg caused rod A to move towards the magnet‘?

. A Rod A expanded when heated

SR B:, - Rod A was affracted. by the magnet

1 C RodA Iost ‘some of its magnetic: force . IR S
“R6dA ga ed magnetlc force from the I|t candle '_ ’ J

L (2) C Qﬂly S
- (3) - Band Donly'-'
. {4)"  CandDonly . -




21.  The diagrarh below shows a number of magnets attracted to each other.

Which-of the.fo_ildwihg diagrams shows a possible arrangement of -tWO of the

magnets?
(1 . ) - - 2 -
(1 - 2) ml
E
F[D C D c)
&) I _ 4)
| B . Al Al G H
H.
B.
G .

12




22.  When magnet k£ was brought near magnet F, magnet F moved away from ‘
magnet E.

magnetE magnet F

What conclusion can be rnade_freni-the above observation? -

(1Y MagnetF is stronger than magnet E

(2) - Magnet E is aftracting while magnet F is repelling.

(3) - Thelike'poles of magnet E and magnet F are facing each other.
(4) ~ The untlke poles of magnet E and magnet F are facing each othér.

23.  Miss Tan asked four children how is a shadow of an object formed The
) children gave their responses as follow.

E h&_(._

Eigime The object is: opague.

Dennle . Thé path of light is blocked.
Giadys . Thé light travels in a stralght fine.

Kelly The light can be reflected by an’ object.

Whose statements exp!aln how the shadow of the object is formed’?

: (1) _ -Ellse and G!adys
(2). Dennis and Gladys
3 Elise, Denms and Gladys. -
“4) - Eilse Dennls Gladys and Kelly'




24.  When an objectwas put between tie light source and the white screen, a
- shadow was formed on it as shown below.

clear red
plastic
sheet"

white |
screen

source

] . shadow

Which one of the following could be observed on the white screen when a
clear red plastic sheet was putbetween the light sourée and the object?

M () ) red
@®) @
red
bl;';lck

14




256.  Jack conductéd an experiment with an object under the same light
source in a dark room. Shadows were formed onscreen X and Y as shown
below.

fight light
source source

| !

e

“screen X . screen Y

‘Wrich of the following: shadows would be observed ot screen X and Y?

Sereen X | “ScreenY

@




26.  Twe idén_ticéllpo'ts_ were filled with the same amount of water to be
given the same amourit of heat to boil. Both pots were placed on two
different type of heating metal plates. Which pot of water will boil first and
why? ' ' : : '

pot A

il
s

heating
metal’
plates

. . N . Reason . .
&) A Pot A has moré heat than pot B.

(2 A Pot A haé r_i_ g_reater.contéct- surface with the
_ . heating metal plate than pot B. - '
3. | B Pot B has more heat than pot A.

(4) T B [PoiB receiv_es_.more direct heat through the gaps
: : . than pot A. )

- 27...: -Four studénts were each given a piece of ice to.hold. After.some tire, they
- ["were asked to explain why the piéce of ice melted in their hands. The table
" -records their explanations. S

Student : . - Explanation
Alice - | The ice loses:its cool and’'so it mélts. . y
Béinice | The hand takes the cdld from the.ice causing it'melt: | -

.Catherine | Heat from the hand melts the ica, |

| Dazéibelia | The jce loses its heat to the hand .and melts.

Wh_ose exXplanation is corfect? -
(1) Alice
- (2) Bernice
- (3) Catherine
(4) Dazerbélla




28.

29.

Mother gave Mavis a sweater to put on when she fe!t cold.-How does the
sweater help Mavis to keep warm'?

- (1)  The sweater has heat energy that keeps Ma\ns warm.

{2y  The sweater traps Mavis’ body heat and warms her body.
(3) - The sweater prevents the cold air from coo[mg her-body further.
(4) . The sweater absorbs heat from ifs surroundmg to keep Mavis warm.

’Megan has four similar rods made up of dtfferent matenats iron, wood
- ‘plastic and glass; One’ end of éachrod had a layer of wax of the Same size.’
She heated each tod for one fintite and collected the melted waXx on four
separate plates, J, K, L and M, as 'shiown below.

| .'blate‘;l_ ~ 0 platek - platel plate M

o Based on the amount of SOlIdtf ed wax coilected on fhe p!ates which plafte,”
ALK L or M; 5 most [lkely to have collected the wax from the rod that is

o made of |ron’?

._(1) - PlateJonlyj -

(2~ Plafe Konly .
(3) ‘Plate L only

SN I Plate Monly -




30, Mary was given a small balloon. She put the balloon through her |
window grille without having to squeeze through it and tie it so'that it would
not fly away as shown in di_'agr'am A below. ' :

“diagram B

g S . After3hours™ - in the sin;
she decided to bring the balloon in. She found it difficult to pull the ballodén -
through the same window grille as shiown in diagram.B. What had happened
to the balloon that caused it unable to go through the window grille?

NIRRT ¢ ) “The air in the balloon has expanded.
L “(2) "~ The rubber of the balloon has éxpanded. _
(3). The wind blew in nidte air info the balioon. : S
. The'ballocri has absorbed more air outside the window.

-~ End of section A -
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31.  James wanted to coriduct ari experiment fo find out whether the material he

used to make a toy car.would affect the distance it travels. He made two: cars, A

and B, with two différént matérials. ds shown below.

L

His teacher told him that his tés‘t was not a fair one,

styrofoam

paperbody .. . .. - .wheal

plastic wﬁe'el. _

_CarA | - carB

(a) - Based on the diagram, what should ﬁe do to make his ex[‘:ierirﬁénta fair

one? o : _ : . (1

(b) James was told to use plastic instead of paper to make the body of .

the toy car. State one advantage of using plastic over paper. - [1] -




32.  Study the flow chart befow carefully.

Start

Does it allow light t
pass through?

Does it break easily?

No

Can it float?

Is it ﬂéxi_ble?

(@)  State two similarities between Hand L. o @

‘-,f(b"-_)' - Which letter in the.f.low._(:ha:ft' best represénts 4 clay vase? N L

.

LA ot .

o) * “State’orts differerics befigen Gand £ 1 - e TR




-33. 'Phyllis conducted-an experiment ori a seed by fracking_ its growth and recorded
her observation in two graphs X and Y as shown below.

.

seed seedling after : seediiﬁg, after
‘ . 3 days ‘ 8 days

0. Graph X ' ‘0. - GraphY

2 . 4 . g 8 B : 2 4 6 8

Mass (g)

- Mass (g)

e N A O o

SN A O @

Time {days) Time {days)’

. (@ Which graph, X or Y, correctly shows the changes of the mass of the seedling

over time? | , -]
(by. - Explain "how .th'e seedling obtains its food after 8.days. — . 2] -

(c) | What are the conditions required for the sesd to grow into & seediing? o




34. The'diagram below shows different parts.of a banana-p,lan.t, W,' X, Yand Z.

X
) w
) (@) What is the function of part w? . : _ {11

) - Refer'to the diagram above, name the part, W, X; Y or Z-,. of the plant

that transpoit water and food to all parts. of the plant. {11
(¢) . What happen if part.Y of the plant is removed? - 1}




-35.  Thediagram below shows a model of ahuman system.

stopper

plastic tube-

‘ balioon
bell jar \

rubber
sheet.

(a) Based onthe dlagram above, draw !lnes to match the ob]ects on the
. right to the corréct organs on the right as ‘showat in' the list below.

[1%]
Object ' ' . | Organs .
piasticiube |« o s Clungs
‘balleon e , : . diephragfn
“ rubber éheet . . " | wirdpipe

((3}] ' “What happens when the rubber sheet is pu![ed downward Explam your
. answer o : . : 2L

e “(c) | Name the human System that it represents as shown m the diagram
S .,.‘_above : : S S T R ]




36; Mavis setnup an expenment with a plant in a beaker of wafer as shown in the

diagram below. She poured a thin layer of oﬂ in the water and placed the set-up
. -tear a window. :

neov

(a)  After two days, what can Mavis observe about the water lével in the -
' beakei? _ _ : [1}

- {b). Expl'aih;yqur ans‘We_er.:in (_é\). - _ B i |

i 37 : -:-.Claésif'}'/f iﬁe-fo-llow'_ing objects in the box below u-ndérth‘e corréct.heading. ..;{2]

Flour _ . - Mist

Steam™ . A o Cotton wool :




38. Mdm Tan has three solid cubes, J, K and L as shown in the diagram below.

J N I G L

She measured and recorded the weight and vélume of the-three cubes as
showi in a table below. ' .

Cube J K L

material iron__ | plasticine | styrofoam
volume " 800ct® | 800cm® |- B800chw
_weight. 800g 500g - 150g

(a) Based on the table above, what do the thiee cubes have in‘common?’

[11

(D) Expté,in'.why‘the 3 cubes have different weights. . (1] .




39.

Four metal rings, A, B, C and D of the same size were slotted info a wooden

rod in the order as-shown in the diagram below. All the rings were exerting
some forms of force on one another that had caused rings B, C and D to stay a

distance away from one another. -

It._.____ wooden fod

T el rings
3 /
C
al L
q

1 ERRTR I

e

(@  What object could rings B, C and D be so that they do not touch one

anotf_re_r? ‘ _ , [ir

above: _ . 10}

- ()  Explain how ririg B and C maintain their position as shown i the set-up

(©) * What would happen toithe rings B, C and.D if e posifion of ring C'is

reversed? Explain youir answer. - : 21




40.  The diagram below showé different types of objects Y and Z are bein‘g

4 .

separated from each other when poured onto a moving belt D.

belt E object X

(3) : From the diagram above, what could object X be? Y]

(®) W'ﬁ'at‘types' of n"gat_eriéls could objects Y and Z be made oft

S e e ot

Object Y:

Objedt Z:

(c)  ‘Based on ihe diagram above, explaifi how cbieds Y and Z were
‘Separated.” e e @,




41.  Johnny conducted an experiment with a torch, a can and a white screen as
shown below. :

distance

white screen can -~ torch

‘He changed the distance_bet\n'feEn the torch and the can by moving the torch
light to see the effécts on the shadow formed on the white screen. He recorded
his findings in a table as-shown below. :

: Dlstance between the torch and - Height -of shadow formed on the
the can {cm) _ white screen (cm)
50 - - . ' 10
40 : : 12
30 14
20 . 1 16

{ay Based on the table above, what is the relationship between the distance
' of thie torch light and the can, and the height of the shadow formed-on
'the white screen? 11

' (b) . Estirate the distance béetween the torch and the can when the heighit of oo
3 the shadow formed on the white scréen is 11em.: (11 -

'y




42. _Meiaine' conducted an experiment using a black box and a white table tennis _
ball as shown befow. The black box has a peeping hole and is fitted with a torch
{ight on the top of the box which can be turned on to brighten the box within.

torch

black box

white
table tennis
ball -

peeping
hole

(@ - Atfirst, Melaine could not see the white table tennis ball.in the black box
through the peeping hole. Without opening the black box, describe what
- Melaine has to do in order for her to see the white table tennis ball
through the peeping hole. - ' o (%]

Ab) Explain how the aetidr‘;_ describe__ in your answer in (a) will enable Melaine
- . to.see the'white table tennis bali'in the black box; o RO 4|

allowis Melaine to seé tfie whité table.tennis ballin the black bo throtgh
the peéping hole. it i |

©. @ 1 the diagram abovs, draw two ariows o Show hiwi-a light Sotcs ™




43

Two giasses M and N, were stuck together and they were not easﬂy separated:
Mother has a basin, a- beaker of hot water and a beaker of cold water as shown
in the dlagram below

glass M

glass N

basin

S TR .z
hot water cold water

Suggest how mother can use the thlngs as shown in the diagram abeve to
separate the two glasses. _ {2]




44.  Simon conducted-an experiment with two similar metal sﬁeets, two thumbtacks
and a candle. One?metaif's'heet- has a shiny surface while the other one is
painted biack. One thumbtack is stuck on each metal sheet using wax. He then

placed a lit candle between the two metal sheets as shown.in the diagram
below. :

wax wax
thumbtack A il y =B thumbtack B

shiny
metal sheet

black metal
sheet

lit candle

. (a)- Based on the _diag'ram, which thumbtack, A or B, will- drop first? [¥]

b

(b) . Explain your answerin (@). | : 21

- End.of section B -

14
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Q31a)James should use only tires of the same size to make his experiment a fair
one. ’

b)Plastic is more durable compared to paper.

Q32a)Both of them cannot float and it does not allow light to pass through.
b)t
C)G does not aliow light to pass through while E allows light to pass through.

Q33a)Graph Y.
‘B)The leaf of the seedlmg produces its own food by using light energy, water
and carbon dioxide.
c)The seed will need air, water and warmth to grow into a seedling.

Q34a)The function of part W is to absorb water and mineral salts from the soil.
b)Part Z.

c)The plant will not be able to make food.

Q35a)plastic tube—windpipe
Balloon—lungs
Rubber sheet—diaphragm
b)YWhen the rubber sheet is pulled down, air from the surrounding the draw
through the plastic tubes and inflate the balloons.
c)Respiratory system

Q36a)The water level will decrease.
b)The roots of the plant absorb water for the plant.

Solid ’ Liquid Gas

Q37) i ] L
' {otton Hﬁ( " Migt / ' S’(wm/ )
i Fowy - i




Q38a)The three cubes have volume in common.
b)The cubes have different amount of mass.

Q39a)Rings B, C and D are magnets.
b)The underside of ring B and the upperside of ring C are like poles.
c)Rings B, C and D will attract. As ring C had the south-pole on top and now
its below, so they will attract. Therefore, unlike poles attract.

Q40a)A magnet.
b)Object Y:Magnetic material
Object Z:non-magnetic material _
c)The magnetism in object X will attract object Y to separate object Y from
object Z and object Z will be attracted and will fall to bin B.

Q41a)The nearer the torch is to the can, the larger the shadow is formed, the
further the torch is to the can, the smaller the shadow is formed.
b)45cm. -

Q42a)She can switch the torch on.

b)Light travels in a straight line. The torch reflect the light to the white table
tennis ball and into our eyes. N
/blar_k box

©)
/ '
&‘ whits “l(/
{  tabie lefmis__._. 4
ball - |

Q43)Mother can pour the beaker of cold water in glass M. And put both glasses
into the basin and pour some hot water to the level of glass N only.

forch —

=\

 peeping
fiale

Q44a)Thumbtack B.
' b)Black surfaces absorb hear better than shiny surfaces. Thus, the black
ietal sheet will be hotter and cause the wax on it to meit faster.




